Find

Solution:

We have

dy
dx

y(x) = % cos3(x) sin?(x).

= (e™ cos3(x) sin?(x)) = (e®) cos3(x) sin?(x) + e (cos3(x)) sin?(x) +

+e® cos3(x) (sin?(x)) = (ae®™) - cos®(x) sin?(x) + e® + (=3 cos?(x) - sin(x)) - sin®(x) +

+e® cos3(x) - (2sin(x) - cos(x)).

We'll use that

So

Answer:

%sin(Zx) = sin(x) cos(x) ;

sin®(x) = 1 — cos?(x).

dy

v %e‘”‘ sin(2x) cos(x) (a cos(x) sin(x) — 3 sin?(x) + 2 cos?(x)) =

1 a
= Eea" sin(2x) cos(x) (isin(Zx) —3(1 —cos?(x)) +2 cosz(x)) =

= %e“" sin(2x) cos(x) (g sin(2x) + 5 cos?(x) — 3).

ay 1 . a . )
bl sin(2x) cos(x) (2 sin(2x) + 5 cos“(x) 3)

http://www.AssignmentExpert.com


http://www.AssignmentExpert.com

